W and y

0.9

w o= 0.013(22) ¥ = 0.945(73) => 0.945(73)

rm 14 med(mad) ACBF

IIII|II]I|I?II|IIII|IIII|III[I!II|I:

\ M lmll.l llul.lhl 1

| ‘ |l||| M” i.
— mwr’ ot m ""Mmln hlm.hL k

_— ' ' ' ' ' ' ' " " T T T ' -

1.0

. |hm J""" m"‘ “'""l‘"“‘ ““l““] l n.wr i il nL X
1|||'u||"' “Wl"fi ” 'IHIH'P’ m”"lp[lﬂ'1‘“'1"””\* W‘l

- il || ||¢]T 1 |'|| I”l r|||r[ i ”"lﬂll i

CJWMM M*WMMWwwwwmwwWW WWWWWWMWWWM”WM
W[w ALY AN i i ikl WM“MI‘M“”W“ mww \w'a;ﬂn i gt uwwm*w iy

III|IIlI|I[II|IIIII|IIII|IIII[IIII|I

ZOOO 5000 4000 o000
7>+6.00

N (R) 7z = 0.81224 I



